Name_________________________
Development Theories There are two theories of why some countries are more developed than others and how those less developed countries can become more developed.
According to the Modernization Theory there are stages that a country goes through.
1st a country begins at a subsistence level which means__________________________ _______________________________________(stage 1 of demographic transition model)
2nd a country is able to create a surplus of food (because of better technology or more fertile land) which leads to _______________________(stage  2 of demographic transition model)
3rd population grows, the economy shifts from farming to _____________________________
***if there are sufficient ___________________________. People will move to ___________
to find these jobs. Now population growth ___________________ because ______________
_____________________________________________(stage 3 of demographic transition)
4th advanced commercial farming  + manufacturing creates a demand for _________________
(for example: if someone has enough money they will hire someone else to fix their car, or go out to eat every once in awhile). At this stage most people live ________________________
According to this theory, countries who are less developed are different because_______
__________________________________________________________________________ and the way to improve level of development is ____________________________________
According to the Dependency Theory it is not so easy for the underdeveloped countries to become more developed.
According to this theory highly developed countries today are at that level because when it came time to manufacture goods they found natural resources by creating _________________
An empire: colonizes (______________________________________) other parts of the world.
Then taking __________________________________    	for  _________________________,
and then making ______________________________________________________________.
Isn’t it easier to advance commercial farming and manufacturing with free labor, free raw materials and someone to buy your goods?
The less developed countries today were ________________________ of the ___________ Empires built their manufacturing and industry on the back of the colonies, their natural resources were exported for the profit of the empires.
 
Go to http://cyark.org/themes/atlantic-slave-trade  . this is an interact map showing where Africans were captured and transported across the Atlantic Ocean and sold into slavery at locations in North, Central and South America. At the top of the page is a timeline.  Put your curser (arrow) at 1900 and drag it back to 1500. Slowly drag it forward, a little at a time, stopping to notice which new spots appear on the map. Where are African being taken from? (red) and where are they being transported to? (blue) . As you go forward in time, notice the sheer numbers of sites in both regions. The arrows represent the trade routes for people sold into slavery. If you click on the colored dots you can see the number of people taken from or brought to a location.
 
What surprised you about what you learned from the map? _________________________
 
 
 
 
 
Click on the modern boundaries. Compare this map to your HDI map.
Which of the two theories is more supported by the information on the Cyark Map
 
 
*My intention is to create another activity using the soon–to-be- created model / virtual tour of Cabo Verde.
 
I think the ___________________________________________ theory is most accurate
 
 
 in describing why some countries are more developed than others today because
 
 
 
 
____________________________________________________________________________
 
____________________________________________________________________________
 
____________________________________________________________________________
 
 
 
 
I think more developed countries could help less developed countries by __________________
____________________________________________________________________________

____________________________________________________________________________
 
I think more developed countries do/ do not bear a responsibility to help because ___________
____________________________________________________________________________
 

